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4611 Of|H|H| 10,619 11,572 -953 | - ofH|H]| 10,619,000
1200 FXtot7|EFAFALX| = 17,908,675 678,236 17,230,439
1210 M X|3tm 2 2 0
1211 CHEH@) 1 1 0| == 1,000
1212 MErfst 1 1 0| == 1,000
1220 X AHMR| = 8,344,076 20,001 8,324,075
1221 EXQ7ISAHO)QICH 8,344,075 20,000 8,324,075 | - g 7|Exjro 2 Me} 8,344,075,000
1229 7|EFERFRIAIX|S 1 1 0| == 1,000
1240 7|EFXFAIX| = 9,107,349 108,051 8,999,298
1244 221202 o X| 9,107,349 108,051 8,999,298 | - EMEX7|Z0M £2A20|2 M = 9,107,349,000
1260 Ao|7|3H E 457,248 550,182 -92,934
1266 EFEXN7|2HY 457,248 550,182 -92934 | - EMEHX7|2 o|20|At & H™HE 457,248,000
1300 7Y ALAON AX| = 4 4 0
1310 S& DY XHAOY QI X| = 4 4 0
1311 EX|0§QlH| 1 1 0| == 1,000
1312 HAE0§QH| 1 1 0| =2 1,000
1315 Z!7|H|Z0§ QY| 1 1 o -z=2 1,000
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